GURU GOBIND SINGH PUBLIC SCHOOL
SEC5/B, B.S.CITY
FINAL REVISION ASSIGNMENT 22019-20

CLASS : VII SUBJECT : ENGLISH

SECTION A ( READING)
Read the passage given below:
Garbage is a great environment hazard. It comes from various sources such as used paper, tiffin
packing, plastic bag, ice cream wrappers, bottle caps, fallen leaves from trees and many more. Garbage

makes the premises ugly, unkempt and breed diseases.

A lot of trash that is thrown away contain materials that can be recycled and reused such as paper,
metals and glasses which can be sent to nearest recycling centre or disposed of to the junk dealer. It also
contains organic matter such as leaves which can enrich soil fertility. A compost pit can be made at a
convenient location where the garbage can be placed with layers of soil and an occasional sprinkling of
water. This would help decomposition to make valuable fertilizer. This would also prevent pollution that
is usually caused by burning such organic waste.

Answer these questions:
a. Where does garbage originate?
How can garbage create havoc for mankind?
What happens to the disposed material at recycling centre?
How are fallen leaves useful?
What are compost pit?
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SECTION B (WRITING)
1. The sanitary condition of your locality are in a bad state. Write an email to the sanitary inspector
based on the hints given below:
Hints : No sweeper ———— Heaps of garbage ———— blocked drainage ———— careless
people ———— no use of dustbins ———— regular visits of officials ———— a dire need ——
—— fear of diseases.
2. Write a paragraph on ‘LIFE WITHOUT PARENTS’.
3. Write a notice on behalf of your school inviting passed out students of last year for their
convocation program that is going to be held in first week of the month.
4. Write a letter to the editor of Times of India for creating awareness among people about the
necessity of hygiene in our surrounding.
SECTION C (GRAMMAR)
1. Rewrite these sentences into passive voice:
a. The gardener watered the plants yesterday.
b. Children are playing football in the ground.
c. Seema has planned a picnic.
d. Principal will give an inspiring story to us.
2. Underline the adverb in the following sentences and identify its kind:
a. They went to the playground in afternoon.
b. Rohit did the work lazily.
c. lusually visit my grandparents during vacation.
d. It was raining heavily outside.



3. Change the sentences as directed:
a. Alas! We lost the match. ( Assertive sentence)
b. We are going for a picnic tomorrow. ( Interrogative sentence)
c. Will you ever forget me? ( Assertive sentence)
d. We did the work on time. ( Exclamatory sentence)
4. Fill in the blanks with correct form of verb:

a. We writing a letter yesterday.
b. He doing his work since morning.
c. Everyone getting a prize for participation.

d. It___ awonderful day.

5. Choose the correct preposition or conjunction:
a. We regret that we cannot comply  your request. ( to / with)
b. The best candidate should be appointed ___ the post. ( from / to)

c. He has been absent classes for three days now. ( of / from)
d. Let us wait here rain stops. ( until / till)
e. Thisis small an interesting story. ( but / because)

6. Punctuate the following sentences:
a. we were late it was raining
b. hurrah we won the match
c. did you finish your homework today
d. it was raining heavily
SECTION D (LITERATURE)
7. Answer the following questions:
a. What did George and Harris do with the butter?
Who was behind the prank? How did Rustomfind out the truth?
Why does the poet compare the moths to ghosties?
Who do you think was at fault in lesson “Apologies”?
What handicaps did Sarah suffer from?
How did the boy react when children became aggressive?
According to the poet is English a difficult language?
Why do you think Tansen offered to teach music to Salim?
We find three kind of temples made of rocks in Mahabalipuram. Which are
these?
j- -~ Where does the Silk Road lead?
8. With reference to the context answer the following questions:
a. “Come to the fort this evening with your father and we’ll discuss everything.”
i.  Whoiis the speaker and to whom is he talking in this line?
ii.  Why did the speaker call Salim that evening with his father?
iii. ~ Why did Tansen want to teach Salim free of cost?
b. “Soon after this incident, my father was transferred to another town.”
i. Whose father was transferred to another town?
ii.  The speaker was talking about an incident, which incident was the
speaker talking about?
c. “That was the first thing they did.”
i.  Who are they?
ii. What did they do?
iii. ~ What did they do after that?
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GURU GOBIND SING PUBLIC SCHOOL

Sec -V, B.S. City
ASSIGNMENT FOR ANNUAL EXAMINATION 2019-20

CLASS - VII SUB - MATHS
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13.

14.

15.

16.
18

18.
19.
20.
21.
22.

23.

24,

What is to be subtracted from 8.1 to get 0.813 ?

The total cost of 24 chairs is 9255.60. Find the cost of each chair?

Find the product 24x? (1-2x) and evaluate it for x = 2.

Multiply (5x* — 6x + 9) by (2x-3).

45 cows can graze a field in 13 days. How many cows will graze the same field in 9
days?

A train covers a distance of 51 km in 45 minutes. How long will it take to cover 221 km?
If 12.5% of x is 6, find the value of x.

96% of the cost of the tv is I 10464. What is its total cost?

On selling a sofa set for I 21600, a dealer gains 8%. For how much did he purchase it?
Sandeep sold a television at a loss of 8%. If he had sold it for ¥ 3360 more, he would
have gained 6%. For how much did sandeep buy it?

Find the simple interest and the amount when, Principal =% 6400, Rate = 6% p.a. and
time = 2 years.

A sum of money lent at simple interest amounts to ¥ 783 in 2 years and to ¥ 837 in 3
years. Find the sum and the rate percent per annum.

InaAABC,2 /A=3 [B=6 L Calculate &, Band C..L

An exterior angle of triangle is 100° and its interior opposite angles are equal to each
other. Find the measure of each angle of the triangle.

The two legs of a right triangle are equal and the square of its hypotenuse is 50. Find the
length of each leg.

Show that in Isosceles triangle, the angles opposite to the equal sides are equal.

In the adjoining figure. D

AB = AD and CB = CD.
Prove that A ABC = AADC = p

B
Construct a AABC in which BC = 3.6 cm, AB =5 cm and AC=5.4 cm. Draw the
perpendicular bisector of the side BC.
Construct a AABC in‘which BC =4.8 cm, Z=90%and AB = 6.3 cm.
Find the area of a rectangular plot, one side of which is 48 m, and its diagonal is 50 m.
A rectangular grassy plot is 75 m long and 60 m broad. It has a path of width 2 m all
around it on the inside. Find the area of the path and the cost of the constructing it at ¥
125 per m?.
The height of a parallelogram is one-third of its base. If the area of the parallelogram is
108 cm?. Find its base and height.
The area of an equilateral triangle is (16 x V3) cm?. Find the length of each side of the
triangle.

The inner circumference of a circular track is 330 m. The track is 10.5 m wide
everywhere. Calculate the cost of putting up a fence along the outer circle at the rate of ¥
20 per metre.



25. A wire is in a circular shape of radius 28 cm. If it is bent in the form of square, what will
be the area of the square formed?
26. A die was thrown 20 times and the following outcomes were recorded :
52,1,3,44,56,2,2,45/5,6,2,2,4,5,5, 1.
Arrange the above data in ascending order and prepare the frequency table.
217. Calculate the median for the following data.
Marks 17 20 22 15 30 25
Numbers of Student 8 9 4 3 10 6
28. Daily wages of 45 workers in a factory are given below :
Daily wages (in %) 300 375 450 525 600
Number of Workers 6 8 9 12 10
Find the median and the mean.
Using empirical formula, calculate its mode.
29.  The following table shows the favourite sports of 250 students of school.
Represent the data by a bar graph.
Sports Cricket Football | Tennis | Badminton | Swimming
No. of students 75 35 50 25 65
30. Acoin is tossed 300 times and we get
Head : 136 times and tail : 164 times.
When a coin is tossed at random, What is the probability of getting (i) a head, (ii) a tail?
Guru Gobind Singh Public School
Sector 5/B, Bokaro
Annual revision assignment 2019-20
Class - 7. Subject-Physics

1. Answer the following question

a) What is temperature ? Name the device which is used to measure temperature.

b) Give the similarities and differences between the clinical thermometer and laboratory
thermometer.

c) What is an electromagnet ?Mention two advantages of an electromagnet over a
permanent magnet.

d) When does an electric short circuit occur?

e) When does the overloading of a householdoccur ?

f) What is meant by the heating effect of current ? Give two applications of the heating
effect of electric current.

g) What is an electricfuse? Explain the importance of using fuse in a household electric
circuit.

h) State two important uses of electromagnet.



1) What is the difference in the shape of a concave mirror and convex mirror ? Give one
use of concave mirror and one of convex mirror.
j) State two differences between a convex lens and a concave lens. Give one use of
concave lens and one use of convex lens.
k) What is meant by dispersion of light? Name a natural phenomena which is caused by
the dispersion of sunlight in the sky
I) State three characteristics of the image formed by a convexmirror of an object placed
in front of it.
m) State three characteristics of the image formed by a convex lens when the object is
close to it.
2. Define the terms:--a) lens b) electric circuit c) battery d) MCB e) convection
3. Differentiate between:-- a) conduction and radiation b) conductors and insulators

c)real image and virtual image

4.Draw a labelled diagram to show dispersion of white light through a glass prism.
5.Draw a labelled diagram to show the circuit of the electromagnet.

6.Draw a labelled diagram of an electric bell.

7.Draw a labelled diagram to show how a convex lens acts like a converging lens

Class-- 7

Subject --Chemistry

A. Answer the following question :---

1.

orkTw

N

10.

11.

12.

13.

14.

15.
16.

Describe the life history of silkmoth briefly with the help of a diagram.

Name the various steps involved in the production of wool from sheep
Differentiate between rearing and breeding .

Explain why a woollen garment keeps us very warm in winter

What is meant by the following terms:-- a) Shearing b) Scouring c¢) Sorting d)
Reeling e) Sericulture f) Cocoon

What is meant by the rearing and breeding of sheep?

What is an occupational hazard ? Name one occupational hazard.

What is sewage? State the various ways in which we produce sewage in our
homes.

Define the terms :--a) Sewer b) Sewerage c) Sludge

What is vermi processing toilet? Name the useful by product obtained from such
toilets.

Name two useful substances which are produced by the treatment of sewage.
State their uses.

What is a septic tank ? Describe the septic tank based toilet with the help of a
labelled diagram.

Explain the relation between sanitation and disease. State two ways in which you
can contribute in maintaining sanitation at public places.

Define the following term:--a) Galvanization b) Crystallization

State differences between a physical change and a chemical change.

What is meant by the rusting of iron ? State two conditions necessary for the
rusting of iron to occur.



Class-VII Subject -Biology
A. Answer the following questions:

PonbRE

What is chlorophyll? What is the role of chlorophyll in photosynthesis?

Why do farmers spread fertilizers and manures in the fields?

What are the various modes of nutrition in plants? Give one example of each.

What are the various types of information usually carried by the daily weather report in a
news paper?

Where tropical rainforests are found in India?

Why do Penguins huddle together?

What are tusks? How does an elephant make use of tusks for its survival?

How have the animals living in polar regions, adapted to the extremely cold climate?
What is soil? How soil is formed?

. Explain why, there is growing demand to ban Polythene bags and plastics.

. Which of the two provides more air to plant roots: Sandy Soil or Clay Soil & why?

. What do you mean by unisexual flowers and bisexual flowers?

. How do Bryophyllum plants reproduce?

. How do insects help in pollination?

. Explain why there is no waste in a forest?

. Explain how forests prevent floods?

. 280 ml of water takes 20 minutes to percolate completely in a particular soil. Calculate

the percolation rate of water in this soil.

. Differentiate between

a. Parasite and Insectivorous plants
b. Animal cell and plant cell

¢. Budding and fragmentation

d. Soil erosion and Soil Pollution
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GURUGOBINDSINGHPUBLICSCHOOL
SECTOR-V/B, B.S,CITY
REVISION QUESTIONS FOR STD-7
SESSION 2019-20

1)What was Dal Khalsa? How did the Khalsa take important decisions?

2) Who was Shivaji? Write a brief note on him.

3)Who wrote the composition of the BhagwadGita and what was it called?

4)Describe the functions of retailer?

5)Define the following:

(i)Market (ii)Retailer (iii)Apabhramsha (iv)coalition (v)Bicameral legislature

6)Write short note on gender inequalities that exist in the family.

T7)Why were temples built in Bengal?

8)What is the difference between the Mansabdari and Jagirdari system?
9)Why did Babur invade India?Which battle was fought by Babur while invading India?.
10)Distinguish between

(i)Sial and Sima (iij)Magma and Lava

11)What do you know about departmental stores?



12)Write any two features of small-scale retail shop?

13)What is the meaning of gender discrimination?

14)What do you understand by burn agriculture?

15)Why is South Africa known as ‘Gold Capital of India’?

16)What are igneous rocks? How are they formed?.

17)What is transhumance.

18) How are consumers exploited in the market?

19) Distinguish between Sahara &Ladakh.

20) On an outline map of India mark the following:

(i) 3 Tribes (i1) 2 Bhakti & 2 Sufi movement (Place where these occurred)

21) Identify the given picture and write two lines on it.

- I
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GURU GOBIND SINGH PUBLIC SCHOOL
SECTOR V/B,B.S.CITY
REVISION ASSIGNMENT FOR ANNUAL EXAMINATION (2019-20)

CLASS: 7 SUBJECT: COMPUTER

INSTRUCTION:
e Learn and write all the questions.
o All the questions are mandatory.
e Question No: 1 to 6and 10carry 1 mark each.
e Question No: 7 and 9 carries 3 marks each.
e Question No: 8 carry 2 marks each.
1) Fill in the blanks with appropriate words:
a) Button is clicked to stop the loop of animation.
b) is the name of a field that uniquely identifies a record in a table.
c) All the fields relevant to one entity are called as
d) tag is used for creating hypertext links
e) attribute is used with the <IMG> tag to specify the location and name of the
image file.
f) If animage is used to be included in HTML document it should have ,
and format.




2) Choose the most suitable alternative:-
a) In Linux, the waste basket in which deleted files and folders are stored is called:

(i)Recycle Bin (i) Trash (iii) Home (iv) None of
these
b) The official mascot of Linux is:

(1) Tux (ii) pigeon (11i) Duck (iv) None of
these
¢) Which of the following looks like a typewriter machine?

(i) Light pen (ii) Microphone (iii) Bar Code Readers (iv) All of
these
d) Which of the following is also known as ‘Primary Memory’?

(i) Main Memory (i1) secondary Memory(iii) Short Memory (iv) None of
these

3) Match the tools as given in Column A with their appropriate name in column B: -

Column A Column B
a) T Eyedropper tool
b) = Stamp tool
c) 'y Text tool
dyrn g Fill tool
e) IS Select tool

4) Write True or False against each statement :-
a) LINUX was developed by Linus Torvalds.
b) Configure Desktop option is used to change wallpaper.
c) Sub- folder and files cannot be placed together inside the folder
d) Linux BOSS is an operating system for which one has to pay to purchase.
e) GUI stands for Graphical user interface.

5) Name a freeware for each of the following application.
Generic Terms Freeware
@) WWGrd Progessor A %Y Y e MG A A
(b) Presentation Package ...
(© Spreadsheet Package ..
(d) CaRBa®e " 00 eV o

P.T.O
6) Expand these Abbreviations: -
a) MS -DOS b) GIF c) BOSS
d) DBMS e) HREF f) JPEG

7) Answer the following question :-
(a) What is linking? What are the different between internal and external linking?
(b) Explain features of HTML?
(c) What do you mean by e-mail? What are the advantages of e-mail?
(d)What is data type? Explain about different types used in database.
(e) Briefly explain about the different ‘Text Highlighting’ tags.
() Explain the basic layout of HTML document.
(9) What is linking? What are the differences between external and internal linking?



8) Write short notes on:-
(a) Sprit (b) Comment Tag
9) Difference :-
a) E-shopping & Traditional shopping
b) Container tag & Empty tag
c) <BR>tag &<HR> tag

10) Answer the following statement in one word /Statement.
a) Mohan had kept many files on his computer system, so he decided to delete some
unwanted files, however while doing so; by mistake he deleted some important files also.

He wants to retrieve back the important deleted files. How can he get back those files
while operating in BOSS Linux?
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